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4219 4o o
,000,000 6.000,000 0| JIErAIE 221l 6,000,0008
JIEFAI S 22l 00,00
4220
S AT 114,000,000 106,300,000 7,700,000
4221 FEEEETE] ; _
,000,0008!
T, 1,000,000 200,000 SN e t———
4222 6,000,000 8,000,000 £2.000,000] XNZBXH, FBSUB 6.000,0008
b= E=IN L]
4223 HEANSRE MBBLDE N
sy 10,000,000 10,000,000 Bl femes ssmae sirins 10,000,000
4224 UL U 2B HEEE
,000,000 1,000,000 2,000,0008!
OIS BHH| e 18 BT R, 0| EHOI4) & Th|
4225 50,000,000 45,000,000 5,000,000| LFeH(AE 2 PG) 50,000,008
Lty
4226 AStEE, ®II3 00,000
A AEE 35,000,000 32,000,000 3,000,000| &sta=, @R 35,000,
4227 SEMEL Y S 6,100,000
e 6,500,000 6,500,000 0 & (A 100,000
2® 9 e '
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2. N& (&=l : )
2 B
: =004k IEEEER z2 i . me
2 & = (A) ol 6ko4(B) (A-8) =
4228 P — .
e zzna 3,000,000 3,100,000 A100,000| 2ASEoISIASHLUSIHIIEMSERS 3,000,008
4229 . -
e as 500,000 500,000 o| n242z 500,0008!
el 73,000,000 60,500,000 12,500,000
4231 wABECGE DEA=T A -
o - 17,000,000 11,000,000 6.000,000 S5 Eeaas 17,000,000%
4232
3,000,000 1,000,000 2,000,000 RREBSEEH, 42 S 3.000,0008!
nssey
4733 S, BN P2 10,320,000
stz oy 18:900.000 18,000,000 O Dieawgan 7,680,000
4234 o -
S ssssa 3,000,000 2,000,000 1,000,000| @2zl 3,000,000
T 1,000,000 1,000,000 o| JEeesay 1,000,000%
A M2 = £ H &
e 5,000,000 2,500,000 580,008 S-S SnRARE 5,000,002
ST JI8SHAH], JIEIIMERS
4238 coima = 5 .
oph 1,000,000 1,000,000 o| 2z71ma = sial 1,000,000
nl 5,000,000 3.000,000 2,000,000| LBALINZ,ESA SBA S 5,000,0008!
e 20,000,000 21,000,000 21,000,000 MzBRHY JE2HY 20,000,000%!
4300
o 37,900,000 24,700,000 13,200,000
2310
o, 25,500.000 14,000,000 11,500,000
e 10,500,000 11,000,000 AB00,000| &IEXLNE 28], JlElE Y] 10,500,000
4312 AISH XS 01 A (01235]), &1 & 2}
o i 15,000,000 3,000,000 12,000,000 | 418 K 01 4(24231), 245 21 15,000,000
4320
el 6,400,000 5,000,000 1,400,000
321
Delmeta 0 0
e EEES 2,400,000
i s 2,400,000 4,000,000
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= AL A

2. \I& (s - &)
o =
=20 AF o HEHEE =2 g e
= » = () 01164 94(B) (A-8)
7373
sy al £ ®
4324
=24ME 0 0 0
4325 &M T 2| 2,000,000 500,000 T
s 2,000,000 500,000 1,500,000| =tas=XITIHl, AKXl 2.000,0008
ECRET 000, ' 500,000 sM=xINAH|.H 000,
4330
ey 6,000,000 5,700,000 300,000
i 1,000,000 700,0 30 QAR AT 1,000,000
e ,000, 000 0,000 2AIBEIAY 000,000
ol = Ol Al Ol Al 2 H| &+
B 5,000,000 5,000,000 | H=tlELRARaEN S 5.000,0008!
Al ZHI JIEFS Al Z I
4400
s 9 0 ¢
4410
XIZ0I Xt 0 0 0
VIR
RETE 0 o g
4420
JIEI RS AIS g 2 g
4221 5
T
3600
olLbl bl v U 0
610
ollbl bl 0 a 0
4611
ol bl bl o 0 4
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2. & (&9 . &
o =
= f aboy HEAEE =2 e = =
o " o (A) ol a2 (B) (A-B) =
1300 33,000,000 34,000,000 A1,000,000
DERAYUKE 000; 299, 000,
1310
Ss DA 33,000,000 34,000,000 A 1,000,000
1314 FEESE BER R N
A ROH Y 3,000,000 1,000,000 2,000,000 Des @Iy B0 3,000,000
1315 AISEZDHI S0 5.000.000%!
X9 HIZ 0H e 5,000,000 13,000,000 8,000,000 B E =0 R . d
1316 XH&0H 0 0 4]
1317 0 " oHRAA |2t SR | 95.000.0008
c M| 25,000,000 20,000,000 5,000,000 SIEE MR y X &
2200
DESHAE 0 0 0
2220
JNEFDE B A B 0 0 9
2222 0
NS A
2 XN & A 872,170,000 826,001,800 46,168,200
DA 171012 X2 1,902,810 1,872,810 30,000
X2 e = 874,072,810  827.874.610 46,198,200
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